exn) List5 solutionsof X +Y =10

x=5 x=l0  x=0 x={ x:33
y=5 Y0 YR ¥4  yeox

(5,9 00,0 [(AW) [(0,49) [(33,b3)

There are on iabiaike ambec ot solvtions!
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In a system of equations, a
o sowe: 3 4 *¥ =00 T
X-y=2

The ONLY solvtion is ((9, ‘D.

Chack (6,4) 1 Firs} equation: Check (6,4) 1a second equation:
X + \/ = ‘O X - \/ _ Q
;
b+4 =10 6 -4 9
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V=9X-4 Qoth equations ove in

=.7¥ + sloge -inteccept Cocm.
y=-2+3 o by

Since the graph of an
equation is a picture of
all solutions to the
equation, the solution to
the system is any point
thatis on hoth graphs.

(I,I) s the
| solvtton Yo the
syshem.

E

In other words, the
solution to the systemis
the point tor points) Where
the graphs INTERSECT.




ex4) Solve hy graphing:

BR+y=1 — \/:3><+|
V+K=0 — y=-Ix+5
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X+2
BX+8y=-40 — y=- x5

ex5) Solve by graphing:

Solve the equation for y!
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Since thew is
no eo'\ni’ that lies

on both grophs,
+his system has

NO S0LuTION
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ex6) Solve hy graphing:

X
[omevomomammrs ot K-2y=6 — y-%x-3

These A equations
oace the somel

oce Solutions
4o this sy stem.

This system has
infinite nvmbec of
sonhions. Evecy pan
on the lae s o sobtion

totha System
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ex7) Solve hy graphing:
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I o | solvtion to the
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